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1)

Calculate the result.
a) 6-9=>54 b)yl-4=4
e) 8-4 =232 f)3-5=15
i)4-8=32

2)

Calculate the result.
a) 12-7=84

e)11-7 =17
i) 14-9 = 126
3)

Calculate the result.

b) 13-3 =39
£)11-4 =44
i) 19-2 = 38

c)H-4=20
g)6-3=18

¢)12-5 =60
g) 176 = 102

a) 1743 = 731
¢) 16 - 38 = 608
i) 13- 38 = 494
4)

Calculate the result.

a) 34 - 80 = 2720
d) 1711 = 187
g) 18- 17 = 306
i) 46 - 68 = 3128
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b) 16 - 26 = 416
£) 18 - 43 = 774
i) 1929 = 551

b) 36 - 84 = 3024
¢) 30 - 37 = 1110
h) 32 - 33 = 1056

c) 1531 =465
g) 18- 38 = 684

¢) 23 - 20 = 460
f) 2365 = 1495
i) 2793 = 2511
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d)7-5=35
h) 85 =40

d)19-6 =114
h) 14 -4 = 56

d) 1214 = 168
h) 11 - 46 = 506
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